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CHAPTER | : Number Systems 1.3

Equivalent Rational Numbers or Fractions

Rational numbers do o : AT

0 not have a unique representation in the form E where p and g are
| q
integers and q# 0. For example,

L2 BEa5k 42
2 4 10 50 84
These are equivalent rational numbers or fractions.

,and so on.

Rational Number in Lowest Terms
)
A rational n » B is sai > | 5 ' ' ‘
| number ; 1s said to be in lowest terms (or simplest form) if the integers p and q have no
common factors other than 1 (that is, pand q are co-prime) and q+ 0.

A 8 .
The fraction E in lowest terms is %

9k
The fraction — in lowest terms is 1
95 5
Among the infinitely many fractions equivalent to E, we always choose the simplest form of P
to represent on the number line all such equivalent fractions.
Representation of a Rational Number on a Number Line

Example : Represent (1) %aud (11) —; on the number line.

Solution. Draw a straight line. Mark a point O on it, which represents number 0. Mark points
by setting off equal distances to the right as well as to the left of O.Label these pointsas 1,2, 3, etc.;
on the right and -1,-2, -3, etc. ; on the left of O.
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(1) In 3 _numerator is less than denominator, so = <1 Also, Gl is a positive rational number.

Divide the segment between 0 and 1 into 5 equal parts. Starting from 0, count 3 parts to

the right to get the point A Tt represents the rational number =

(1) Now, e la negative rational number and its numerical value is less than 1. Divide the

segment between 0 and 1 into 7 equal parts. Startizg from 0, count 4 parts to the left to

get a point B It represents the rational number Fed

S :
Example : Represent (i) 141 and (11) 15 on the number line.

11 o
Solution. = =i
(1) e

Clearly, !;1 lies between 2 and 3. As shown in the figure on next page, divide the segment

between 2 and 3 into 4 equal parts. Starting from 2, count 3 parts to the right to get point P. It
11

represents the rational number Z
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